
QUIZ NR. 91.

RĘCE E

1. 2. 3. 4. 5.*
♠ K87632 ♠ A965 ♠ KD ♠ 6 ♠ AW6
♥ 8 ♥ AKD874 ♥ A94 ♥ K643 ♥ 105
♦ KD73 ♦ W65 ♦ A964 ♦ W9 ♦ 84
♣ A5 ♣ - ♣ D763 ♣ A87532 ♣ K108532

6. 7. 8. 9. 10.
♠ K73 ♠ 64 ♠752 ♠ AD6 ♠ 7
♥ D62 ♥ W73 ♥ AKW95 ♥ A952 ♥ KD6
♦ W ♦ KD1064 ♦ 7 ♦ AKD82 ♦ AD10
♣ AW10984 ♣ 542 ♣ AD64 ♣ 6 ♣ AKD853

11. 12. 13. 14. 15.*
♠ AK53 ♠ AD5 ♠ AD1098 ♠ KW4 ♠ A6432
♥ ADW ♥ A64 ♥ 83 ♥ K62 ♥ 86543
♦ W10 ♦ AD108 ♦ D107 ♦ W853 ♦ 7
♣ KD92 ♣ 653 ♣ A105 ♣ W104 ♣ D6

16. 17. 18. 19. 20.
♠ ADW9 ♠ 6 ♠ D10 ♠ D1094 ♠ KD7
♥ KD6 ♥ ADW3 ♥ K643 ♥ AKW5 ♥ AKD1084
♦ A108 1d W7 ♦ AD1095 ♦ DW ♦ 6
♣ A109 ♣ A108654 ♣ A3 ♣ KW6 ♣ K63

1) N interweniuje kierami z pojedynczym przeskokiem
2) S otwiera 2 ♦ (Multi), N jeśli może licytuje 2 ♥, a S, jeśli może 2 ♠


